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A= Per
A=P(1+ ’")nt
pH = —log[H™]
L = 10log (+-)
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1. The concentration of hydrogen ions is 0.00316 moles per liter in a can of soda.

culate the pH of the soda. ’?\—\ = -\Oj L H+]
@ ¥ = 0. oo 3l
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@ 2. You invest $50,000 in a fund compounded monthly at 4% interest. How much
ill the amount become after 20 years?
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0 . Solve algebraically. How many years will it take $50,000 to grow to be
$111,277 in a fund compounded continuously at 8%?
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;. Solve algebraically. (\/x + 1>=( — 5)
¥+l = (X-5)(x-5)
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how a complete graph of the function f(x) =4*"3 -5,
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(3 ,74)
i \] = -—’5’
6. Rewrite as a single logarithm. 2In(x) + In(4) — In(5)
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;. Simplify the following:

@ (A VR U
d T 327 2% = o
) log,s(5) =

b
2
@ A5 =5 A5 -5 25 =5

@c) ln(e’*) @
@i ) 1093(1) = O
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8. The amount of a radioactive isotope present is given by f(x) = 700e
grams where t is the time in years that the isotope decays.

.} How many grams is the initial amount of the radloactwe isotope?
_ Y = 700 ¢ " 00028 ¥ - 700 € —7000)
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) How many years will it take for 400 grams of the radioactive isotope to be
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remaining? Solve by a method of your choice.
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9. So‘ve algebraically. 6 + log(x) = 8 — 2log (x)
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